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OR

qer faf T @rdl R gHer yME 9aqrgd |

[llustrate the meaning of 'Cum-dividend' and 'Ex-dividend'. Give
their effect on investment account.

‘STARAT fAGRVT BT T THAT TAR BIRTY R SHHT AR BT ((12)

Give a specimen form of 'Statement of Affairs' and explain it.
OR

1 [, 2018 &I el =1 100 . dTel 125, 15% g2 HHN & FIIH
120 . Ui RUOS Bl X W AN Aied W | A GRT &
1 BREN 3R 1 3R Bl fem 97 7 |
1 7TEER 2018 BT AT 7 BT Bl 75 RUYF 118 . UlT OIS DI &)
A =1 2T 99 | B UG Ay IR HHI: 125 . T4 75 B, FY b
ST 2 | el 3 Wi Ui 99 31 A/ Bl g% bRl © | el dl
D] H 3MMeID W I15
On 1% June, 2018 Sheela purchased 125, 15% debenture of Bush
Company of Rs. 100 @ Rs. 120 each cum-interest. Interest ‘is
paid on 1% February and 1% August by the company. On
I** November, 2018 Sheela sold to Chhaya 75 debentures @
Rs. 118 each Ex-interest. Rs. 125 and Rs. /75 are paid on
purchases and sales respectively. Sheela closes her accounts on
31 March every year. Prepare necessary accounts in the books
of Sheela.
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Code No. : 02/316
Second Semester Examination, May 2019
M.Com.
Paper - 111
CORPORATE FINANCIAL ACCOUNTING

Time:3 Hrs. Max.Marks : 80
o UKD 3PIg H UD YT BT 91T A UG B Sifcrelgmil Ued &, s IR
T AT & AR H S |
RIS HIS & T C (TR Ue) BT IR 200250 ¥&T H G |
AT D (&1 SR Yo) & IR 400—450 & H < |
Part A and B of each question in each unit consist of very short answer
type questions which are to be answered in one or two sentences.
Part C (Short answer type) of each question should be answered in
200-250 words.

Part D (Long answer type) of each question should be answered
within the word limit 400-450.

Unit - I
Q.1 A =T &I AW+ JYTEROM FT 87 (2)
What is accounting concept of goodwill?
Q.1 B 3@ & 3M<IR® o ¥ T MM 57 (2)

What is meant by intrinsic value of shares?
Q.1 C Fr=feRad sffrsi 3 Yoiinvor fafer gy w=1fa @ 131 =1 difori(4)
(1) sfrea faf=nfora Uoi 6,00,000 .
(2) AT DI HERIT < 10%

(3)11—@ A9 Ul @& o™ HHE 60,000 3., 80,000%. 3R 1,00,000 . T |
P.T.O.
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(4) U 60,000 . B AT H 6,000 B, IR-IR 7 B dTell AT AT
g

From the following figures, find out goodwill by capitalisation method:
(1) Average capital employed : Rs. 6,00,000

(2) Normal rate of return : 10% Q4A
(3) Profit for the last three years are Rs. 60,000 ; Rs. 80,000 and Rs. 1,00,000

respectively. Q4B
(4) Non-recurring income of Rs. 6,000 is included in the above mentioned

profit Rs. 60, 000 . Q4C
OR

IR fafics o1 f=feRaa gfngfodt o e <&@ € -

5,00,000 FHT AT 10%. UfT e goi geear 50]00]000 :-

33,000, 10% Yaif&bR 3T 100 . UfdT 3fer goui gevar 33]00]000 - -
20,000, 8% Z&UTGH 100 %m. ufd rogx 20]00]000 - -

FOTOS TR QST o | d HFA BT 3T o 38,20,000 Tl 2
IR DI &R 30% TAT AT Bl &R 10% AR | IS GAIABR A
R AM YA &% 8% TAT AT 3T TR A I & 12% &I
Al HAT Td gaiedR I B Jed S1d DI |

Bharat limited has issued the following securities :

5,00,000 equity shares of Rs. 10 each fully paid Rs. 50,00,000
33,000, 10% preference shares of Rs. 100 each fully-paid Rs. 33,00,000
20,000, 8% debentures of Rs. 100 each Rs. 20,00,000

Average profits of the company before debenture interest is
Rs. 38,20,000. Assume that the Income tax rate is 30% and tax on
dividend is 10% . If normal rate of return is 8% on preference shares and
12% on equity shares, ascertain the value of preference and equity shares.

Q.1 D drIfde SR <™ 60,000 %6, AFAT & | T 37720 2 b B g

R ¥ a7 el =N wfdd & ST & 1re auf ddb 31oi Hall = |

BT BT FHRMT 3,20,000 . B | IHHM A6l &R 5% WR TS
https://universitynews.in/

(11) Code No. : 02/316

In what ways a company can alter its share capital for the
purpose of internal reconstruction? Explain.

Unit -1V
HA & foy aRe @1 Fgfaa dF wR Ao 2? (2)
Who can appoint liquidation for a company?
fafer=m @ @ &7 (2)

What.is Investment Account?
T SR & e JAfafFEH, 2013 & JFJAR QEIRGRT dTarR
ST DINTY, BT S FAI dof [afdr 31 fdwR, 2018 T | @)
(i) =muRe <F 50,000 %. (OTIH M &R @& 3,000 . TR,
2017 ¥ IHRT B )
(i) =R SRl & &1 A8 BT 9a- (NTFH U= Hdreld & dad
3,000 . ¥l A 8) 10,000 .
(iii) MIHR : B IROT I9 2017-18 HT 10,000 %.
PR IR a9 2018-19 BT 12,000 .
QI T BT PR FEROT 31 3fFCdR, 2018 DI YT gafT |
(iv) IRIPHA I H KT 25,000 3.
Find out preferential creditors according to Companies Act,
2013, the date of winding-up of the company is 31* December,
2018 :
(1) Trade payables Rs.50,000 (including Rs. 3,000 for local
tax which became due on November, 2017)
(i1) Salaries of four employees for two month (including
salary Rs. 3,000 due to managing director)
(i11) Income tax :  Assessment year 2017-18 Rs. 10,000
Assessment Year 2018-19 Rs. 12,000
Assessment of both the assessment years was completed on
31% October, 2018.
(iv)  Loan from Nationalised Bank Rs. 25,000

P.T.O.
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[II] Assets
(1) Non-current Assets:
(a) Fixed Assets:
(i)Tangible Assets
Leasehold Premises 1,30,800
Plant and Machinery 42,200
(i1)Intangible Assets:
Patents at cost 8,50,000
(2) Current Assets :
(a) Current Investment Nil
(b) Inventories 55,000
(c) Trade Receivable (Sundry Debtor) 76,500
(d) Cash and Cash Equivalents 500
11,55,000

Company proved unsuccessful and the following scheme of

reconstruction is passed

(1) Rs. 100 each preference shares be reduced to an equal
number of full paid shares of Rs. 50 each.

(i1) Rs. 100 each equity shares be reduced to an equal
number of full paid shares of Rs. 25 each.

(ii1) That the amount thus rendered available for the
reduction of the assets is apportioned. as follows:
Preliminary expenses and statement of profit and loss
(negative balance) to be written off entirely. Rs. 30,800 of
the leasehold premises; Rs. 15,000 of the inventories, 20%
of the Plant and Machinery and Sundry Debtors and the
balance available to be written off from patent.

Give necessary journal entries.

OR

Tep B SR GAHIT B Se A IO 3 Yol H b
JpR URTdT B Fhdl 87 TasNgY |
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Y H AT 0.154722 . & 373 AUl BT qAHM Hod b U]
2 | AT U 9 bR @1 |l # o il T Oofl W 125%
2| (i) Iafas & gd o™ U4 (i) e | wfd &1 qe
SIFAIS IS | (12)
Actualaverage profit is estimated at Rs. 60,000. It is expected that
the company may go on earning at this rate without any new force
actingfor eight years to come. The net tangible assets of the company
isRs:3,20,000. The present value of rupee 0.154722 invested every
year for eight years at the present rate of interest of 5% p.a. is Rs.
one. Normal expectation from this type of concern is 12.5% on
capital invested. Estimate the value of goodwill from (i) actual
average profit and (ii) super profit.

OR

3felt & Heaied &1 fafi= faferl &1 wwemsy |

Explain various methods of valuation of shares.

Unit - II
BT Ul R 77 (2)
What is the purchase consideration?
THIPRY BT Y Se3g RAT &7 (2)

What is the main objective of amalgamation?

fedl & R @ A vd ®a ufawa A § sr W<
I | @
Distinguish between pooling of interest method and purchase
consideration method.
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v fafice don @y fafice, 9@ te &1 @R 8 9 @R
HEfI B Gt vd <Rl ®f o @ foru @y forfies ame

9% B 9918 | SHD TAT-31AT g R ®

fooj .k hx fyfeVM | ‘ch* fyfeVM
[1] Berk ,o nkf;Ro
(1) sigrenRat &1 B
@) 37 Yol 15,00,000 9,10,000
(10 %. ufc 3fer gof gawan)
(@) o T AR
JE= Gag 84,000 —
M-I fdeRor g 16,000 90,000
(2) =neg <fde:
ARG I (THSR) 66,000 40,000
16]66]000 [ 10]40]000
(1] MBERfik;k
(1) IR =1e] FHRRET -
(@) Rer Feafrr:
(i) 7 TRl
Hiales TRARX 2,00,000 —
e Uq 7RI 3,66,000 2,69,000
(i) s Rl (=) 6,00,000 4,00,000
) %nq TR
(@) b~ 3,20,000 2,31,000
@) E&TqTﬁm I (31GR) 1,50,000 1,20,000
(1) Ips VT b T 30,000 20,000
16]66]000 | 10]40]000
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AT DI Rl FATSTTes T8l oY 3R GAHAT B =1 gaer

PR B T

@) 100 . dTel YATEBR 32 B FRAT G981 T&l, UR Ul 32T iy

HSTHR 50 . HY &l AT |

(i) 100 . 9Tl FHAT T B HEAT T8l I&l, W Ul A AR

TCTHR 25 . HY &l AT |

(i) ST AR BT IYIRT YRS TI TG Am9-81 fqavor
UF (FUMHSD 2Y) Bl gl WY H UforRad w1 # T2T 30,800

/. US TR I P; 15,000 6. IH B; 20% I TG AN
17 fAfdy SeR 3R Y BT Uve W IrqferRad e § TANT

faar |
JMaTTH Goll (Se) ufaftedt difvm |

The following was the Balance Sheet of 'N' Limited as on 31*

March, 2019:
Particulars Amount
Rs.
[I] Equity and Liabilities
(1) Shareholder's funds :
(a) Share capital
7,500 Pref. shares of Rs. 100 each, fully paid 7,50,000
5,000 Equity shares of Rs. 100 each, fully paid| 5,00,000
(b) Reserve and surplus
Preliminary Expenses (30,000)
Statement of Profit & Loss (Negative Balance) | (1,15,000)
(2) Current Liabilities:
Trade Payable 30,000
Bank Overdraft 20,000
11,55,000
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31 91, 2019 Bl .’ fofffics o forgr Fergar o : (12)
f0oj .k JhETKLZ H
(1] lerk ,o nkf;Ro
(1) ofeenRat B P
@) 379 Yol -
7,500 QAIEIR 372, 100 . Ui e Yol gabar|  7,50,000
5,000 FHAT 3721, 100 3. Ufcrafer, gof gavar 5,00,000
(@) Foa T s
URM® g (30,000)
M-8 a0 95 (o 2m) (1,15,000
(2) =1 wrfrea:
RS < 30,000
I rfarfday 20,000
11]55]000
Yiih DERFUK; k
(1)IR-31e], AR
(@) Rer Fwafmn:
(i) g et
gg TR ¥aq 1,30,800
IUE Td HEAR 42,200
(ii) sPyd =<l
qeue AR R 8,50,000
(2) =y, wwafr:
(@) wﬁﬁ?ﬂv e
(&) wh+ 55,000
() aJTqTﬁ‘cﬁ 79 (fAfdy <9 eR) 76,500
(@) XIbs Ud b Jod 500
TI[55]000
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A fAMACS o xR Al & AR AERAT & <7ai Bl
A R D [Ty g AT H 100 . dlel FAAT 372 FHIST TR
Frifae o |

faeta @1 Ui BT Taleror A gY < forfics o geae! ¥
NI, Uil (ST1el) Tfafteadt BTy |

'A' Limitedand 'B' Limited having business of similar nature desire to
amalgamate and a new company called 'C' limited is formed to take
over their respective assets and liabilities. Their Balance sheets are

given below :
Particulars 'A' Limited [B'Limited
(Rs.) (Rs.)
[I] Equity and Liabilities
(1) Shareholder's Funds:
(a) Share capital 15,00,000 9,10,000
(Rs. 10 per share fully paid)
(b) Reserves and Surplus
General Reserve 84,000 -
Statement of Profit & Loss 16,000 90,000
(2) Current Liabilities :
Trade Payables(Creditors) 66,000 40,000
16,66,000 10,40,000
[II] Assets
(1) Non-current Assets :
(a) Fixed Assets :
(i) Tangible Assets
Freehold Premises 2,00,000 -
Plant and Machinery 3,66,000 2,69,000
(i1) Intangible Assets (Good will) 6,00,000 4,00,000
(2) Current Assets :
(a) Inventory 3,20,000 2,31,000
(b) Trade Receivables (Debtors) 1,50,000 1,20,000
(c) Cash and Cash Equivalents 30,000 20,000
16.66.000 10.40.000
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'C' Limited issued requisite number of Rs. 100 each equity shares at
par to discharge the claims of equity shareholders of the transferor
companies.

Pass the necessary journal entries in the books of 'C' Limited
assuming amalgamation in the nature of merger.

Rl @IAT R &7 Ig 59 ISR 911 Srar 22 goll (S
yfaftedl gRT SIS | (12)

What is realisation account? How it is prepared? Explain
through journal entries.

OR

31 #Te, 2019 BT Uh WA TR arell S BT Vesd FH1a
gan, foaa! Rerfa ferrgar o

fafdy TRl 9,00,000 %, TR FHRMET 1,00,000 %, IR
2,00,000 %. Td FHdT Yol 10,00,000%. | FHRMEAT FAT BT DI
7,20,000 %. ¥ 91 T, fSMAH ¥ 5,00,000 %. BT JIATT 100 . T
e H, 39 W 50%. UfT o bl o UF WY 2,20,000 HHDI
YA Adhal | AT SR i 999 3 T SR & &R
AT AU DT AN DI b & oy walfed o | U5 T
HF B GRADT Bl g5 DI |

A Limited company goes into voluntary liquidation on 31*

March, 2019. Its position was as under :

Sundry assets Rs. 9,00,000 ; Liquid assets Rs. 1,00,000 ;
Liabilities are Rs. 2,00,000 and its paid-up capital
Rs. 10,00,000. The assets are sold to new company for
Rs. 7,20,000 out of which Rs. 5,00,000 payable in shares of
the new company for Rs. 100 each, credited with Rs. 50 per
share paid-up and Rs. 2,20,000 in cash which suffices to pay
the liabilities and cost of liquidation of the company in
liquidation. Close the books of the company in winding up.

Q3A

Q3B

Q3C
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Unit - ITI
Teh HFI D ATRD GAMHAT BT T AR 87 (2)
What is meant by Internal Reconstruction of a company?
3er Sl Al | MY T FHIT 57 (2)

What doyou undertsand by reduction in share capital?

T oA @ 31ferdhd Yol 10 %. dTel 20,000 FHAT T H favad
2,00,000 %. o1 | & 1 e (i fohdr T qeHm 7 %, Uil 373 b
bl o | 2019 H Bl 7 07y foran b 2 6. Ul 3f2r &1 Yerar
PR f&AT Y 3R 10%. & 372 DI TSDPR 5 . Ul 3 gof Fepell
AR T WU iR SFeT X3 Bl RE R g1 Sy | o 1+ faavor
T3 ¥ 60,000 %. BT AfCRD T |

Uil (STie) ufafteat oIy aeIm 31 #1d, 2019 &1 gt 9918T | (4)
Gupta limited had Rs. 2,00,000 authorised capital divided into
20,000 equity shares of Rs. 10 each. All these shares were
issued and were paid to the extent of Rs. 7 per share. The
company decided in 2019 to pay off Rs. 2 per share and to
reduce the Rs. 10 share to Rs. 5 per share fully paid-up by
cancelling unpaid amount. There was Rs. 60,000 surplus
balance in statement of profit & loss. Pass journal entries
and prepare Balance-sheet on 31% March, 2019.

OR

ST |
State the circumstances in which Internal Reconstruction
becomes necessary.



